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At H| A" HAAERSF R " 1,000,000
xlEngl_:’Elel%ll 4,235,000
EEX 2 4,191,913
PR PN - IR =A
QU ALAH BEX| 2 AL 200 200 - - Jojo|&Mu|A 200,000 13| = 200, 000]
=l
X|AAIS| EHS-
MMM A 1,220 1,400 180 15 |[HAEELLET| 700,000 23| = 1,400,000
Al H|
NERs-HE 1,300 1,300 - - |FEX EAIXIE S| 100,000%127H &l +18 = 1,200,000
AMH I}
WA ARRH| Al 100,000
WEEs-A - 2,000 2,000 100 |"A0td"o{ZAILIEO0| 1,000,000
o Al
Aldy| ZEEuA EEFUH| 1,000,000
ns2s-"Ha| - 12,155 | 12,155 100 |ZHALR 160,0009 x53] 77} &= 5,600,000
Stol grol b
| WAy 11,0008« 15 #77| 4== 1,155,000
T2 29| 5,400,000
At2tx| /I S7|EH 58,200 58,200 - - |&{ R} &= H| 200,000 x97H 21«30 =| 54,000,000
-LolAE g E
X & AtHH| 2= 2i2|d| Absll 25 8,680+30H = 260,400
ZHo{ At g3 el ul=d| 20,0009 *30Y =
150,000 *13] = 750,000
HM7|2tet3| (3] 2]H]) 70,0008 23] = 140,000
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2016 2016 =2H(B-A)
o g = off &k 1% %= of & & & W o (el )
(A) (B) N | HIE(%)
Atz el (3]2lH]) 80,0008 %93 = 720,000
S tzla](2l2l8]) 300,000 23] = 600,000
Eo{R} &S 2| WKH| 100,0008+23| = 200,000}

E3t&EH| 1,200,00080+13] = 1,200,000

AHF-8&H| 109,6008 «13]= 109,600

H| Z7lt] 100,000+13] 100,000

g3 2gH| S| (HEAL) 70,0008 +13] = 70,000

WHETH] 50,000+13] = 50,000
AHehx| S 7| Ef

-3 ez 100 300 200 200 [S el 50,0009 %23 = 300,000

Ated |
e 6,300 6,600 300 5 UE/ATS 1,500,000
XU EH A

T At AT HOAREDAM w2t 23]| 2,000,000

Atel =X dE 300,0008 %23 = 600,000

At gt At " otsl=) 2,500,000

x| o z= 2| 5}-2f 5,740 7,048 | 1,308 23 |27 A} YEWEEH AL 762,2008 +13] = 762,200
L=l

Ated| ofe{ o] At olt{oler AL 245,600 <13 = 245,600

StobS o) EHA| stobZ2 O &HA| 3,000,00094+13] =/ 3,000,000

Al ohof 300,00094%23| = 600,000

SHtEEE 2 Te|2H| 20,0008 1274 = 240,000

Hzzeld 2z 450,000

stetEx17| 0] 20,0008 +53| = 100,000
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at 5t = of| AF A I =)

(A)

Bl ==ta] st o EEFYUY| = 500,000

F oIt = Xt3] 9| 3leld| 50,000 33 150,000

FoICH =X 3tgF 250,000 *12] 250,000

FOI = A ALA 200,000 »23] 400,000

wvasiwn | SPO S

Fows3=3H3 50,0008 *23] 100,000

-?—‘:.i'_{’ilif‘ Zojojags 2 42,1602 «1271 & 698,160

ZOlHALEHE 42 1601271 & = 505,920

k=R 16,810 =127 & = 210,520

AMAR SN EAEH 6,5810& 1271 & 82,738

HZ(AlZtel 257 63,727 1274 & 764,731

E&XMEF Z2ELS+1/12 = 1,290,000

FolZiets] =2k H=F 30,000 x2% 60,000

AlCHH] 7,0009 *31H 13 217,000

CtabdH] 105,000 *13] 105,000

ALX|do| &= CHH S A& 33,0009 #30H = 990,000

HAMH|AH S Ctzid] 18,000 =235 36,000

SX|MH[ AKX =X| MH[AX][2IH] 200,000%33] = 600,000

AEXA AZUE WFEIHH| 50,000 +33] = 150,000

ZE[AFF 2G| AFRH| 169,931&%135] = 169,931
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il 8t = ofat | 1z of A & ZF u oo (2ol 9)
(A) (B) OH == H| = (%)
XlA=&s-x| 15,020 17,938 2.918 19 |AH 2 ALK @S| 500,000
A7Het o
ozl At ALl 2 ALK} Ob 3 0k 3| 20,0009 *»75H *23] = 7,438,000
XLl 2 ALK} ZHEtE(H] Clof| 6,000 «50EH] = 300,000
SHAM ZE = ZHEk5]10,0009 %3094 «23] = 600,000
ZAFT AKX ZEAIM A S ZAZ 2K ZEARM AL 50,0008 +235] = 100,000
CHet M RFI ESAIE 2Y 29 2z y| 500,000
Aalytete| 2,000,000
2 o|X| 24 SAERH|E M ztee|y| 1,000,000
A AIX| 27} 2,000,000
X|HAlE| EH EEEETY 3,500,000
XA =& 5-2 - 5,000 5,000 | #DIV/0!|2lof7t Telu| FRP CH2 T 2|0{7} 570,000 70 = 3,990,000
Al R A4 4" SAVE .
= FALZ= 21770 =
2l0f7H Atele] o E Toly| HATT 00T T 280,000
- 27 5.0008 <770 =
J|EfEE 2ol K ;
|Et=& Tl XF2 4] 20 000277 = 175,000
SHEEZ 7| AEZX| C|Xtol 2 2lAfH|-E 370,0008 = 370,000
si=0} X &Hd| 35,0002 %13] =
X CEAL ™ ,
—= Al Z=H|H| 50,0008 %33 = 185,000
NEESIET- ol alatatalo < x SojAxE]  1,500,0008 =
Alegﬂl_nEl':_ - 5,000 5,000 100 _I_Dn_l_?-l';:. J’Dl'EEHJ,S'Il 75‘% ?-(P:!Ijl 920,000%% _ 2’420,000
Zotsd=0h" FTIE AF 600,0002 =
INTSPS ' ’
JNCT =g MA|3| Zulu| 1,650 0008 =  2:250,000
s 2| obf = H| = 330,0002 13| = 330,000
ZRAFEItE _ 4 500 4 500 100 |=H s AN M EHE AL 9| 4,500,000
7|E|LX|—?;JA|-CI):1H| ’ 3 i) R ir ) = , ,
a2"oio|
=22"0{g{0 Lél' E,’JO 70d
ako| Z 2o) & - 2.000 2,000 100 EHIP;‘:|1A+}°4|H| 8= 2,000,000
x| " Abedn| &k cal
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2 g = SPU IREIEE of & A & U o (29 )
(A) (B) OH == H| = (%)
S22
st st=5 4 St 2l uetA st
A L sl - 1,000 1,000 100 [Satoes Chim st A Afot U] 1,000,000
Al H|
FSEAE=AY SNl
- X _/I\_% é-)] 0 % g_uth)I-“
= ZRYSIE - 6,500 6,500 100 1; 7t 2l +o4 T 6,500,000
EAFBLHEAY
CHZ A Fof| L X2 AN 7| SELAIY
x| ,frggajl..L - 4,301 4,301 100 ;l 2 Al ISEBA 4,301,000
|
SICH M| A& sl
HMAEXSEME SICH M| H&e O A & X| 5| 2
oooyal qme| 20,000 12.449 |- 7.551 38 [y m o (a2 2k = Apt 12,449,000
Al H|
TAFGLLER -
CHX| < H/El-qu E A F1%LbE M SR
ofl L4 x| =3t 2 x| - 1,500 | 1,500 100 |2 3ol A x| = atF x| " AL 1,500,000
2" A | el
— _ ZTATGLIS R X| 2 A
T A TGS A 6.500 19,598 | 13,098 202 fj,‘l:” iﬁ ek Xl At 6,595,950
ok K| AN "B 2 S EE
Sl " AR H Rl 2 AL MSZHAH] 12 ZHAF 180,000 +13] 180,000
- ofutZrH 11,0002 *57H
oL =21 nozltl H S
FEY =2Z 2| ZHEE 200 000817 335,000
Mol20}bH|Zl 4400002 *5CH
e X oly
=R T 1S HMMS7| 770,0008 *5CH 7,475,000
- 1.5V R14 HHE{Z2| 1Box 13,000 «55FA
ADE Fol ’
& Tanl M X| 1Box 10,0002 58FA 115,000
Chel 2 7| chel 2 ®ZF 30,0008 %153 450,000
=92 =] =5 2Z HZE S 1,000,000 13| 1,000,000
. WSH| X2 50,0008 <10
oo ez A= = , puka =]
SEXMA w3 Bams x@ 1.500,0008 13| 2,000,000
R K*?lﬁ*?kil Z=d|H] 110, 0002 *40H «23]
H71® oty :
B ol gls]o| FH[H| 10,0002 +10% «13] 900,000
S-S PIE-EEY X ZZr}s| (4| 10,000%40% *13] 400,000
AR EE Fd| AR E8F 7Y S 145,000 +13] 147,000
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el 3 2 of st | 1% of & & & uf o (g
(A) (B) OH == H| = (%)
LS E20I2 sUs E20I=2 =7
nre o) Afetb] - 6,000 - 100 |25 6,000,000
oh= 2k 5| x| &
"7|otXts RH AL oh= 28 S| X| & "7| ot K}=
35X == - 152 - 100 At AtS| =X == XtEHT| 151,800
A7 s 22X SEUX[ ALY
2" Abedt|
St=ALS| S K| & ~ = ==
s St ALE| 2 X| 3ol 5| " 5| ot
o|5|"s|atLtE - 4,000 - 100 Lﬁxrﬂwlﬂﬂllﬂ | 4,000,000
PSEIENTTE] SAIE A
NAEXE | A X = 2~ A 770 - 770 | - 100
— |<:|D|.—| 3_'AE|II ':“”O%E;
AT R & 770 - - - ijll EXOMSEE -
=
FSONES SONES ~ A 100 100 - -
FSONES 100 100 - - [&xi= 100,000
ofe|e] 2 | ofjg|H| N
J1EL J1El ~ A 236 234 2 1
Y 100 100 - - loge|(xl2 R A ) 100,000
] =X S| 20| A} Hhat
Hhst2 136 134 2 100 |2 | fi=olxt ghe 50,000
[}
X S (E)E
N 3,000
EsIALY EXfof 20|k} b
i}i I = 0| A} 13,000
— 3
PNz PN R-TE==PN
""School??s0 cool ! I1"A} 3,000
A S EHo| S0 AL HiEtg
I I A ALY EE & 2oy
F0|x} ursta 7,461
YA T Y ST
20| X} Hiar=2 18,000
LoldXiz|AlY SHAEZ
ol x} ytEE 17,109
sR2'stuZ0odp/g" S
X0 20| X} BHEr2 10,074
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2016 2016 =ZHB-A)
it | 1xEZ of & &4 F oo oA (ke @)
(A) (B) M| BB (%)
SR EAFLMUR|LLE
7" M £ (0 FOIA}) uhat 2,835
_1
=
SRRt sl X 27| 7HY
X ated" SEol 0| A} 3,000
uhata
S AT 3 SAVE 207 1 000
At S Eof Z0| A} Bhata ’
SAMY I 2 F 2oty
SF'AIY ST Zo|x} 1,000
uhata
7152 ST ol
X o 5,000
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